



(Established by the State Legislature Act, 9 of 2003) Accredited by NAAC

No. CDLU/DYW/2024/4358

Dated: 01.03.2024

To

The Principal, Manohar Memorial P.G. College, Fatehabad.

Sub. Regarding achievement of M.M. P.G. College from 2017 to 2023.

R/Sir.

With reference to your office letter no. MMC/159/215 dated 08.02.2024. The required information demanded by you are as under:

#### > Session 2017-18

1. University Youth Festival was held from 02-07 November, 2017.

Sr. No.	Recommended Events	Prize Money (Rs.)	Commended Events	Prize Money (Rs.)
1	Classical Vocal Solo	1100.00	Light Vocal Bhajan/Shabad	500.00
2	Classical Instrumental Solo (Non-Percussion)	1100.00	Western Group Song	1200.00
3	Indian Group Song	1500.00	Indian Orchestra	2000.00
4	Light Vocal Gazal	1100.00	Haryanvi Pop Song	2400.00
5	Haryanvi Orchestra	2250,00	Classical Dance	500.00
6	Haryanvi Folk Song (Solo)	1100.00	Haryanvi Solo Dance (Male)	500.00
7	Haryanvi Group Song	1500.00	Mimicry	500.00
8	Qawwali	2000.00	Shalokocharan	500.00
9	Choreography	3000.00	Onatorio natan	300.00
10	One Act Play	2250.00		
11	Mime	1200.00		
12	Sanskrit Drama	2250.00		

2. Winner Running Trophy for Theatre Items.

3. Winner Over-all Trophy.

 University participated in 33<sup>rd</sup> North Zone Inter University Youth Festival held at MMU, Mullana, Ambala from 12<sup>th</sup> to 16<sup>th</sup> January, 2018 and Obtained 2<sup>rd</sup> Position in One Act Play.

Student Refreshment: Rs. 1020.00 (per student) x 15 = 15300.00

(Vanshika, Jyoti Munjal, Mallika, Rubal Soni, Vishal Singh, Mandeep Kumar, Deepak Jangra, Raheesh Kumar, Sukhram)

Prize Money: Rs. 2500 (per student) x 9 = 22500.00

Director/Accompanist Remuneration:

- a) Mr. Nitin Sachdeva Rs. 17000.00
- b) Mr. Kuldeep Rs. 17000.00
- c) Mr. Rakesh Rs. 17000.00
- d) Dr. Anil Sharma Rs. 19750.00

3. University participated in 33rd Inter University National Youth Festival held at Ranchi University, Ranchi from 16th to 20th February, 2018 and Obtained 2nd Position in One Act Play.

Student Refreshment: Rs. 600 (per student) x 9 = 5400,00

(Vanshika, Jyoti Munjal, Mallika, Rubal Soni, Vishal Singh, Mandeep Kumar, Deepak Jangra, Raheesh Kumar, Sukhram)

DA to Students: Rs. 1200 (per student)  $\times 9 = 10800.00$ 

Prize Money: Rs. 4000 (per student) x 9 = 36000.00

Director/Accompanist Remuneration:

- a) Kuldeep Rs. 10550.00
- b) Rakesh Rs. 10550.00
- c) Sunil Rs. 10550.00

## Session 2018-19

University Youth Festival was held from 15th to 17th November, 2018

Sr. No.	Recommended Events	Prize Money (Rs.)	Commended Events	Prize Money (Rs.)
1	Classical Vocal Solo	1100.00	Classical Instrumental Solo (percussion)	500.00
2	Indian Group Song	1500.00	Classical Instrumental Solo (Non-Percussion)	500.00
3	Light Vocal Gazai	1100.00	Western Group Song	1200.00
4	Haryanvi Orchestra	2250.00	General Folk Song	500.00
5	Indian Orchestra	2500.00	Haryanvi Folk Song (Solo)	500.00
6	Haryanvi Folk Instrumental (Solo)	1100.00	Haryanvi Group Song	1200.00
7	Western Instrumental Solo	1100.00	Haryanvi Group Dance	2000.00
8	Qawwali	2000.00	Choreography	2400.00
9	Haryanvi Pop Song	\$000.00	Sanskrit Drama	1800.00
10	Classical Dance	1100.00	Elecution	500.00
11	Haryanvi Solo Dance (Male)	1100.00	Installation	500.00
12	One Act Play	2250.00		
13	Skit	1500.00		
14	Mime	1500.00		
15	Debate	1100.00		
16	Declamation in Sanskrit	1100.00		
17	Poetic Symposium	1100.00		
18	Collage	1100.00		

- Winner Running Trophy for Musical Items.
   Winner Running Trophy for Theatre Items.
   Winner Running Trophy for Literary & Fine Arts items.
- Winner Running Over-all Trophy.
- 2. 34th North Zone Inter University Youth Festival held at Panjab University, Chandigarh, from December 27-31, 2018 and Obtained 4th Position in Skit and Mime.

Student Refreshment: Rs. 960 (per student) x 10 = Rs. 9600.00

(Sukhram, Deepak Jangra, Mandeep Kumar, Vishal Singh, Jyoti Munjal, Bhawna)

# Director/Accompanist Remuneration:

- a) Mr. Nitin Sachdeva Rs. 17000.00
- b) Mr. Kuldeep Rs. 17000.00
- c) Mr. Sunil Kumar Rs. 17000.00

### Session 2019-20

 35th North Zone Inter University Youth Festival held at Guru Dev University, Amritsar, Punjab, from December 25-29, 2019 and Obtained 4th Position in Folk Orchestra and 5th Position in Skit.

Student Refreshment: Rs. 1200 (per student) x 17 = Rs. 20400.00

(Kulwinder, Karan Kumar, Dilbar, Vikash Kumar, Harshdeep, Vanshraj Raheja, Dimple, Diksha, Vishal Singh, Bhawna, Nishant, Sumit Kumar, Sukhram, Jyoti Munjal

## Director/Accompanist Remuneration:

- a) Dr. Anil Sharma Rs. 15300.00
- b) Mr. Nitin Sachdeva Rs. 15500.00
- c) Mr. Kuldeep Rs. 17150.00
- d) Mr. Rakesh Kumar Rs. 17150.00
- e) Mr. Sunil Kumar Rs. 16600.00

## ➤ Session 2022-23

 9th University Youth Festival "Triveni Yuva Mahotsav" from 7th to 11th December, 2022.

Sr. No.	Recommended Events	Prize Money	Commended Events	Prize Money
1	Classical Vocal Solo	1100.00	Classical Instrumental Solo (Non-Percussion)	500.00
2	Light Vocal Gazal	1100.00	Haryanvi Orchestra	1800.00
3	Light Vocal Bhajan/Shabad	1100.00	General Folk Song	500.00
4	Western Vocal Solo	1100.00	Qawwali	1600.00
5	General Folk Song	1100.00	Haryanvi Pop Song	2400.00
6	Haryanvi Folk Song (Solo)	1100.00	Classical Dance	500.00
7	Haryanvi Folk Instrumental (Solo)	1100.00	Choreography	2400.00
8	Haryanvi Solo Dance (Female)	1100.00	Declamation in Sanskrit	500.00
9	One Act Play	2250.00	Installation	800.00
10	Skit	1500.00	Rangoli	800.00
11	Sanskrit Drama	2250.00	Best Actress in One Act	500.00
12	Collage	1100.00	Play  (Malkin, Shakuntla)  (Rs. 1100/-)	
13	Poster Making	1100.00		
14	Power Point Presentation	1100.00		

- Winner Running Trophy for Musical Items.
- Winner Running Trophy for Theatre Items.
- Winner Over-all Trophy.

 36th Inter University North-West Zone Youth Festival to be held from 24th - 28th January, 2023 at Maharishi Markendeshwar University, Mullana, Ambala obtained 3rd position in One Act Play, 4th position in Mime and 5th position in Skit.

Student Refreshment: Rs. 1200.00 (per student) x 09 = Rs. 10800.00

Prize Money: Rs. 2000 (per student) x 9 = 18000.00

(Khushmeet Kaur, Rahul, Atikaye, Yogita, Arshita, Vishal Singh, Bhawna, Sapna Rani, Nishant)

#### Director/Accompanist Remuneration:

- a) Mr. Nitin Sachdeva Rs. 32400.00
- b) Mr. Kuldeep Rs. 32400.00
- c) Mr. Rakesh Kumar Rs. 31600.00
- All India National Youth Festival to be held from 24th to 28th February, 2023 at Jain University, Banglore obtained 2nd position in One Act Play.

Student Refreshment: Rs. 900 (per student) x 09 = Rs. 8100.00

DA to Students/Accompanist: Rs. 1500 (per student/accompanist) x 12 = 18000.00

Prize Money: Rs. 4000 (per student) x 9 = 36000.00

(Khushmeet Kaur, Rahul, Atikaye, Yogita, Arshita, Vishal Singh, Bhawna, Sapna Rani, Nishant)

#### Director/Accompanist Remuneration:

- a) Mr. Nitin Sachdeva Rs. 22550.00
- b) Mr. Kuldeep Rs. 22550.00
- c) Mr. Rakesh Kumar Rs. 22550.00

I wish bright future for the Institution in future ahead.

Director, Youth Welfare